M1

30

G
\

_‘_

¥

R */ 4# GLIOLI
-

( )}

L

M14x22
608

158

E I M M1 | M2 N Nt | N2 | N3 N4 X P | &
F703 |P80 19 | 218 | 6 | 200 | 165 | 130 | — |M10x12| 4 | 3875 | 167
F703 [P90 24 | 273 | 8 | 200 | 165 | 130 | — |M10x12| 4 | 387.5 | 167
F703 |P100 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 4.5 | 397.5 | 171
F703 [P112 28 | 313 | 8 | 250 | 215 | 180 | — [M12x16| 4.5 | 397.5 | 171
F703 [P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 | 434 | 173
F703 |P160 42| 453 | 12 | 350 | 300 | 250 | 23 18 6 | 4895 | 185
F703 [P180 48 | 51.8 | 14 | 350 | 300 | 250 | 23 18 6 | 4895 | 185
F703 |P200 55 | 593 | 16 | 400 | 350 | 300 | — |M16x25| 7 | 514.5 | 206
F704 P63 1| 128 | 4 | 140 | 115 | 95 | — | M8x19 | 4 | 419 | 168
F704 |P71 14| 163 | 5 160 | 130 | 110 | — | M8x16 | 45 | 419 | 168
F704 |P80 19 | 218 | 6 | 200 | 165 | 130 | — [M10x12| 4 | 4385 | 170
F704 P90 24 | 273 | 8 | 200 | 1656 | 130 | — |[M10x12| 4 | 4385 | 170
F704 [P100 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 4.5 | 4465 | 174
F704 [P112 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 4.5 | 4465 | 174
F704 [P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 | 482 | 176

A
144 E 30
995 F4
F2h9 g —i:t L FL
I @[7 == @
z 4%} =1 ;
\ . e
‘ v . :ﬁiﬁ m ) e FA%/ BONFIGLIOLI
" ke s 1\:!—/ * 8 § 2
0 I } S = ©
N ,,iﬂ,i,,: o ‘g" L Y
B iremm—r .
H—— 3 <
M16x30 N
455 190
e
10
261

E By A E F F1 F2 F3 Fa4 v o
F703 |, .o 572 110 42 45 12 10 90 | M12x28 | 186
F 70 4 508.5 50 24 27 8 25 45 | M8x19 | 174
@ Bonfiglioli 453 / 572

Riduttori



F 70...H

F 70

H80 H70
STANDARD

22, 20 & ©
[te} o 22

85.4
74.9
80
M
| 8
5
Ll
(55

i i 60 60 M16 b et
80 67 70 67 P31 ' 1117
261
325.5
10
&
80 140 90 35 Nm
/h & ©
ey
F 70...S B I Rt i | —— |
T & < —
~ ~
L
197.5 229.5
130
22 h9 5 |.120
- P —
F 70...R ° 4*******
1| | M20x42
N
80 he
5 .24 5 22
I % %
= = I
F 70lllFlll § uO) g %
< I} i Py
-l'ﬂ_H
70 70
454 1 572 @ Bonfiglioli

Riduttori



